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Il Semester B.A./B.Sc. Examination, March/April 2023

(NEP) (Freshers) (2022-2023 and Onwards)
PSYCHOLOGY
Paper — 3 : Child Development

Time : 22 Hours Max. Marks : 60

Instructions : 1) All three Parts are compulsory.
2) Answers must be written completely either in Kannada
or in English.

PART - A

|. Answer any four of the following. Each answer carries two marks. (4%2=8)
CIRYWOWTER TR, T, NN LU0, T,S03R0TD GV TBR, TTO L0TNED.

1) What is longitudinal method ?
DO0WIRCEI DT 0TITERD ?

2) What is Brazeltcn’s assessment ?
23, BPOF STRTI D0TTERD ?

3) Name any 2 disorders of childhood.
200, T C3RBTOTTR TR e:aa‘dmmséa’cwcﬁ% TROA.

4) Define empathy. *
5030303&2,1@&&13;’% 339,509, VA
5) What is scaffolding ?
o) 5&5@3@?&0& DOTITETY 2
6) Expand ADHD.
ADHD Y DFOR.
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PART -B

Answer any four of the following. Each answer carries five marks.
CIRRTTTL T, T,I NN V0. T,3030T GVITER, [T BOTA.

1) Explain the research challenges in child development.
aﬁaﬁ;ﬁ WITeIrioddd FodeeTe NDLONTS) DBOR.

2) Discuss the germinal stage in detail.
BWFIO* TOTSIY, DT[TToN W3F R

3) Discuss the effect of tobacco and alcohol in prenatal development.
Ty ADZRTE WFBIRoD, oL &0 STk TVOFOTITIY, WWFA.

4) Discuss the components of language development.
g LITEIod BoBnYRy Wdr .

5) Write a note on emotional self regulation.
POTTIFE FOIOC Q03 €T3 BOOBD LTS LTOWD.

6) Explain symptom disorder.
BRENOT LNT SRR3R WTD2.
[y w R <
PART -C

Answer any four of the following. Each answer carries eight marks.
CIRFYTWITCR WY, F,J TN YLZ0A. B,303R00D YVSTER, DO 50BN,

1) Explain anxiety disorders in childhood.
wa@gw 23050 w?u;ﬁmér{%?@t LDWOA.

- 2) Explain any 1 cognitive theory of child development.
TOTOIT WIBEII0D £I0EYTTTR 20T Roes g N@?czzsaa 0.

. 3) Discuss the stages of prenatal development.

T, DDPPRE WFTEIROD TOINTI), WiFA.

4) Explain chromosomal abnormalities.
WEIFBOBINT LABHRINTY LWTOR. .

5) Explain perceptual development in childhood.
LU, BHOD 7,5T WTDEIOLT 20X,

6) Describe basic emotional development in detail.
AU FOBEMDZT WYTeIoRT, 330=0N SR

T 0 0

(4x5=20)

(4x8=32)



